Form 605

Corporations Act 2001 Section 671B

Notice of Ceasing to be a Substantial Holder

To Company Name/Scheme Macquarie Communications Infrastructure Group (MCG)

ACN/ARSN 101 048 293

1. Details of Substantial Holder

Name Suncorp-Metway Limited and its subsidiaries

ACN/ARSN (if applicable) 010 831 722

The holder Ceased to be a

Substantial Holder on 02/07/2009

The previous notice was given to the company on 02/07/2009

The previous notice was dated 30/06/2009

2. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose Relevant Interest Changed	Nature of Change	Consideration given in Relation to Change	Class & Number of Securities Affected	Person's Votes Affected	
Since	Suncorp Metway Investment Management Ltd					
Since Previous Notice	Tyndall Investment Management Ltd	Refer Annexure 2				
	New Zealand Guardian Trust Company Ltd					

3. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name & ACN/ARSN (if applicable)	Nature of Association
Not Applicable	

4. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to A	nnexure 1

Signature

Print Name:	C. Chuter	Capacity:	Company Secretary
Sign Here:		Date:	06/07/2009



Annexure 1

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	296,360
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	34,124
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	2,173
New Zealand Guardian Trust Company Ltd	NEW ZEALAND GUARDIAN TRUST COMPANY LTD OUTWARD BOUND TRUST OF NZ	ANZ NOMINEES CUSTODIAN SERVICES MELBOURNE	30,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	237,649
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,863,349
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LIMITED GPO BOX 5078 SYDNEY NSW 2001	541,617
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	966,531
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	923,756

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	4,347,955
Tyndall Investment Management Ltd	NRMA TREASURY LTD	JP MORGAN CHASE NOMINEES LOCKED BAG 7 , ROYAL EXCHANGE SYDNEY NSW 2000	428,456
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,966,443
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	104,633
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MARITIME SUPER	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MARITIME SUPER A/C 15579-19 MRTYAE 5 TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	1,669,058
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	148,765
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	5,851,451
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	386,384

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD FOUNDATION ACCOUNT	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LTD FOUNDATION ACCOUNT	271,524
Tyndall Investment Management Ltd	WILLIAM BUCKLAND FOUNDATION	TASMAN ASSET MANAGEMENT LIMITED A/C WILLIAM BUCKLAND FOUNDATION PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	361,749
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	760,175
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	72,939

TOTAL UNITS: 22,265,091

Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS
AMP CAPITA	L INVESTORS				
AMPC	02/07/2009	Sales	1755103.28	2.975	590556
AMPC	02/07/2009	Sales	5265309.82	2.975	1771668
AMPC	02/07/2009	Sales	1175920.62	2.975	395673
TYNDALL AU	STRALIAN SHA	ARE WHOLESALI	E PORTFOLIO		
TASWP	02/07/2009	Sales	5111386.56	2.975	1719876
TASWP	02/07/2009	Sales	15334183.43	2.975	5159636
TASWP	02/07/2009	Sales	3424632.2	2.975	1152318
САМВООУА	PTY LTD				
CAMB	02/07/2009	Sales	39898.44	2.975	13425
CAMB	02/07/2009	Sales	119698.29	2.975	40276
CAMB	02/07/2009	Sales	26729.72	2.975	8994
САМВООУА	PTY LTD FOUN	IDATION ACC			
VFFF	02/07/2009	Sales	22723.53	2.975	7646
VFFF	02/07/2009	Sales	68170.61	2.975	22938
VFFF	02/07/2009	Sales	15225.31	2.975001	5123
CATHOLIC SU	JPER RETIREM	ENT FUND			
CSRF	02/07/2009	Sales	844289.56	2.975	284086
CSRF	02/07/2009	Sales	2532874.64	2.975	852260
CSRF	02/07/2009	Sales	565672.17	2.975	190337
OPTIMIX					
OPTI	02/07/2009	Sales	1717739.91	2.975	577984
OPTI	02/07/2009	Sales	5153213.79	2.975	1733950
OPTI	02/07/2009	Sales	1150884.91	2.975	387249
IOOF INVEST	MENTS				
IOOF	02/07/2009	Sales	806923.24	2.975	271513
IOOF	02/07/2009	Sales	2420772.66	2.975	814540
IOOF	02/07/2009	Sales	540639.43	2.975	181914
MARITIME S	UPER PTY LTD				
SERF	02/07/2009	Sales	127193.55	2.975	42798
SERF	02/07/2009	Sales	381574.68	2.975	128392
SERF	02/07/2009	Sales	85217.71	2.975	28674

MERI 02/07/2009 Sales 2654109.43 2.975 293053 MERI 02/07/2009 Sales 7962325.29 2.975 2679158 MERI 02/07/2009 Sales 1778251.8 2.975 598345	MERCER IN	VESTMENT				
NRMA NRMA 2.975 598345 NRMA 02/07/2009 Sales 32869.78 2.975 11060 NRMA 02/07/2009 Sales 98603.38 2.975 33178 NRMA 02/07/2009 Sales 22025.13 2.975001 7411 NSW BUSINESS CHAMBER ITD ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009	MERI	02/07/2009	Sales	2654109.43	2.975	893053
NRMA NRMA 02/07/2009 Sales 32869.78 2.975 11060 NRMA 02/07/2009 Sales 98603.38 2.975 33178 NRMA 02/07/2009 Sales 22025.13 2.975001 7411 NSW BUSINESS CHAMBER LTD ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 91399.37 2.975 29652 PTACT	MERI	02/07/2009	Sales	7962325.29	2.975	2679158
NRMA 02/07/2009 Sales 32869.78 2.975 11060 NRMA 02/07/2009 Sales 98603.38 2.975 33178 NRMA 02/07/2009 Sales 98603.38 2.975 33178 NRMA 02/07/2009 Sales 22025.13 2.975001 7411 **NSW BUSINESS CHAMBER LTD** ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 **OPTIMIX INCOME FUND** TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 91399.37 2.975 74475 **PUBLIC TRUSTEE OF ACT** PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 91399.37 2.975 20605 **RAC INSURANCE** RACI 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 **RAC INSURANCE** RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 274198.11 2.975 19988 **WILLIAM BUCKLAND FOUNDATION** WBUCK 02/07/2009 Sales 274198.11 2.975 19988 **WILLIAM BUCKLAND FOUNDATION** WBUCK 02/07/2009 Sales 88664.43 2.975 19988 **WILLIAM BUCKLAND FOUNDATION** WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 88618.02 2.975 9714 TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 97144 TACSVF 02/07/2009 Sales 865854.04 2.975 65066 **TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008	MERI	02/07/2009	Sales	1778251.8	2.975	598345
NRMA 02/07/2009 Sales 98603.38 2.975 33178 NRMA 02/07/2009 Sales 22025.13 2.975001 7411 NSW BUSINESS CHAMBER LTD ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991047.46 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81938.29 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 865854.04 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 50008	NRMA					
NRMA 02/07/2009 Sales 22025.13 2.975001 7411 NSW BUSINESS CHAMBER LTD ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 291399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 29055 PTACT 02/07/2009 Sales 88664.43 2.975 29605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales	NRMA	02/07/2009	Sales	32869.78	2.975	11060
NSW BUSINESS CHAMBER LTD	NRMA	02/07/2009	Sales	98603.38	2.975	33178
ABL 02/07/2009 Sales 207593.73 2.975 69851 ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991047.46 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 865854.04 2.975 65066	NRMA	02/07/2009	Sales	22025.13	2.975001	7411
ABL 02/07/2009 Sales 622781.17 2.975 209553 ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 991399.37 2.975 30754 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 265993.26 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 865854.04 2.975 591342 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 865854.04 2.975 591342 TACSVF 02/07/2009 Sales 865854.04 2.975 591342 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 865854.04 2.975 591342 TACSVF 02/07/2009 Sales 865854.04 2.975 50666	NSW BUSIN	IESS CHAMBER	LTD			
ABL 02/07/2009 Sales 139090.27 2.975 46801 OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 221336.04 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RACI NSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WB	ABL	02/07/2009	Sales	207593.73	2.975	69851
OPTIMIX INCOME FUND TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 221336.04 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 27315.21 2.975001 9191 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales	ABL	02/07/2009	Sales	622781.17	2.975	209553
TOPTI 02/07/2009 Sales 330350.14 2.975 111156 TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 221336.04 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RACI NSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 27315.21 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574	ABL	02/07/2009	Sales	139090.27	2.975	46801
TOPTI 02/07/2009 Sales 991047.46 2.975 333467 TOPTI 02/07/2009 Sales 221336.04 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 865854.04 2.975 97114 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 49542.42 2.975 50008	OPTIMIX IN	ICOME FUND				
TOPTI 02/07/2009 Sales 221336.04 2.975 74475 PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 265993.26 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04	TOPTI	02/07/2009	Sales	330350.14	2.975	111156
PUBLIC TRUSTEE OF ACT PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 49542.42 2.975 50008	TOPTI	02/07/2009	Sales	991047.46	2.975	333467
PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.9	TOPTI	02/07/2009	Sales	221336.04	2.975	74475
PTACT 02/07/2009 Sales 91399.37 2.975 30754 PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.9	PUBLIC TRU	ISTEE OF ACT				
PTACT 02/07/2009 Sales 274198.11 2.975 92262 PTACT 02/07/2009 Sales 61237.05 2.975 20605 RAC INSURANCE RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/20			Sales	91399.37	2.975	30754
RAC INSURANCE RACI 02/07/2009 Sales 61237.05 2.975 20605 RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31						
RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008		• •				
RACI 02/07/2009 Sales 88664.43 2.975 29833 RACI 02/07/2009 Sales 265993.26 2.975 89499 RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008	RAC INSUR	ANCE				
RACI 02/07/2009 Sales 265993.26 2.975 89499 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008			Sales	88664.43	2.975	29833
RACI 02/07/2009 Sales 59404.84 2.975 19988 WILLIAM BUCKLAND FOUNDATION WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008						
WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008		• •				
WBUCK 02/07/2009 Sales 27315.21 2.975001 9191 WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008	WILLIAM RI	LICKI AND FOLIN	ΙΠΔΤΙΩΝ			
WBUCK 02/07/2009 Sales 81948.57 2.975 27574 WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008				27315.21	2.975001	9191
WBUCK 02/07/2009 Sales 18298.3 2.975001 6157 TYNDALL AUSTRALIAN CORE SHARE VALUE FUND TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008		• •				
TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008						
TACSVF 02/07/2009 Sales 288618.02 2.975 97114 TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008	ΤΥΝΠΔΙΙ ΔΙ	LISTRALIAN COI	RF SHARF	VALUE FUND		
TACSVF 02/07/2009 Sales 865854.04 2.975 291342 TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008					2.975	97114
TACSVF 02/07/2009 Sales 193372.94 2.975 65066 TYNDALL AUSTRALIAN SHARE INCOME FUND TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008		• •				
TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008		• •				
TASIF 02/07/2009 Sales 49542.42 2.975 16670 TASIF 02/07/2009 Sales 148621.31 2.975 50008	ΤΥΝΟΔΙΙ ΔΙ	USTRALIAN SHA	ARE INCO	ME FUND		
TASIF 02/07/2009 Sales 148621.31 2.975 50008					2.975	16670
		• •				
		• •				

WORKERS COMPENSATION NOMINAL INSURER

WCNI	02/07/2009	Sales	664034.81	2.975	223434
WCNI	02/07/2009	Sales	1992095.53	2.975	670299
WCNI	02/07/2009	Sales	444903.99	2.975	149701

